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1. The problem was clearly stated.
2. You understood the solution.

3. What are your plans for Thanksgiving break?

Section 9.1 A Gentle Introduction (Part 1)

Applications

P 1. Create a pseudograph which contains 6 edges and 8 vertices.

P 2. Find the Instant Insanity solution for the following cubes. (A solution exists.)
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P 4. Acquaintance Relation Problem Does every set of six people contain three mutual acquain-
tances or three mutual strangers?
How can we use pseudographs to model the acquaintance problem? Defined V(G) and E(G).

Form a question related to the pseudographs whose answer solves the acquaintance problem.
Answer the question.
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P 3. There are 15 students in a discrete math class. Show that there are at least 2 students

that have birthdays in the same month. In this problem what are the Pigeons and what are the
noles? .
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P 4. Show that among n + 1 arbitrarily chosen integers, there must exist two whose difference
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